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Directions (1-10): Read the following passage
carefully and answer the given question. Certain
words are bold to enable you locate them while
answering some of the questions.

Power and possession have been central pursuits
of modern civilization for a long time. They
blocked out or distorted other features of the
Western Renaissance (revival) which promised so
much for humanity. What people have been and
are still being taught to prize are money, success,
and control over the lives of others, acquisition of
more and more objects. Modern social, political
and economic systems, whether capitalists, fascist
or communist, reject in their working the basic
principle that the free and creative unfoldment of
every man, woman and child is the true measure
of the worth of any society. Such unfoldment
requires understanding and imagination,
integrity and compassion, co-operation among
people and harmony between the human species
and the rest of nature. Acquisitiveness and the
pursuit of power have made the modern man an
aggressor against everything that is non-human,
an exploiter and oppressor of those who are poor,
meek and unorganized, a pathological type which
hates and distrusts the world and suffers from
both acute loneliness and false pride. The need for
a new renaissance is deeply felt by those sensitive
and conscientious men and women who not only
perceive the dimensions of the crisis of our age
but who also realize that only through conscious
and co-operative human effort may this crisis be
met and probably even overcome.

Q1. According to the passage, why has modern
man turned out to be an enemy of everything that
is non-human?

(a) He has been dominated by drives of
acquisitiveness and power

(b) He hates and distrusts other human beings

(c) He consciously practices spirit of cooperation
(d) Non-humans have refused cooperation to
human beings

(e) None of those given as options
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Q2. Which of the following is one of the
requirements to bring out the best in man?

(a) Money

(b) Success

(c) Understanding

(d) Power

(e) Acquisitiveness

Q3. The real attainment of any society can be
adjudged by which of the following?

(a) The degree of freedom for pursuing more and
more power

(b) The encouragement for acquisitive tendencies
(c) Strict adherence to authoritarian structure
(d) Total victimization of conscientious persons
(e) None of those given as options

Q4. The modem value system encourages the
importance of which one the following?

(a) Spiritual development of all individuals

(b) Recognition of freedom and equality

(c) Craving for power and possession

(d) Spirit of inquiry and knowledge

(e) Basic respect for all individuals

Q5. The author hopes that the present crisis can
be solved by

(a) purposive and collective human efforts

(b) devoted individual efforts

(c) powerful elite human beings

(d) different political systems

(e) spiritually developed individuals
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Q6. The western renaissance could not make total
impact on today's humanity because _____

(a) it was conceptually weak

(b) it was against basic principle

(c) conscientious men opposed it

(d) old civilization was based on acquisitiveness
and control over others

(e) None of those given as options

Q7. Which of the following best describes the
behaviour of the modern man?

(a) Conscientious and cooperative

(b) Imaginative and sympathetic

(c) Seeker of truth and non-violence

(d) Cruel and antagonist

(e) Perceptive and creative

Q8. Which of the following is most nearly the
SAME in meaning as the word 'rest as used in the
passage?

(a) remaining

(b) relax

(c) everything

(d) all

(e) partial

Q9. Which of the following is most OPPOSITE in
meaning of the word 'central' as used in the
passage?

(a) Major

(b) insignificant

(c) inadequate

(d) crucial

(e) lateral

Q10. Which of the following statements is NOT
TRUE in the context of the passage?

(a) There is a need for a new renaissance

(b) The modern man is not individualist

Directions (11-15): Read each sentence to find
out whether there is any error in it. The error, if
any, will be in one part of the sentence. The
number of that part is the answer. If there is no
error, the answer is '5'. (Ignore the errors of
punctuation, if any.)

Q11. Our rich men.(1) / to say the least. (2)/ did
not advance the moral struggle (3)/ of passive
resistance as did the poor. (4) / No error (5)

()1

(b) 2

(c)3

(d) 4

(e)5

Q12. The purpose of this book, (1) / however, is
not to discussion (2) / these basic issues (3) / in
its various aspects. (4) / No error (5)

(a1

(b) 2

()3

(d) 4

(e)5

Q13. You have not care (1) / to see that your (2) /
expenditure are more (3) / than your salary. (4) /
No error (5)

(@)1

(b) 2

()3

(d) 4

(e) 5

Q14. Most of the third world (1) / country are
experiencing (2) / the ethnic or communal
problems (3) / in varying degrees.(4) / No error

(5)

(c) Western renaissance had held so much (@)1
promise for the mankind (b) 2
(d) power and possession go hand in hand (c)3
(e) poor and weak people are oppressed by the (d) 4
modern man (e) 5
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Q15. No pluralist society (1) / which is
undergoing change (2) / can be free with (3) /
communal or ethnic tensions. (4) No error (5)
(@)1

(b) 2

(c)3

(d) 4

(e)5

Directions (16-20): Pick out the most effective
word from the given words to fill in the blank to
make the sentence meaningfully complete.

Q16. Continuous unemployment has induced in
the people a kind of which is most
depressing.

(a) laziness

(b) encouragement

(c) satisfaction

(d) angry

(e) resistance

Q17. I believe that man is born in the
world with certain natural tendencies.

(a) although

(b) any

(c) neither

(d) every

(e) as

Q18. The Chairman will come here at 5 p.m. to
a lecture.

(a) attain

(b) speak

(c) talk

(d) deliver

(e) took

Q19. Mountaineering institutes to the
young climbers, the technical knowledge which
has been accumulated over the years.

Q20. There have been quite a large number of
to the Himalayas now and some of them

have been extremely successful.

(a) attempting

(b) expeditions

(c) demand

(d) attractions

(e) expectations

Directions (21-25): In the following passage
there are blanks labeled as A, B, C, D and E. Out of
the given five words, identify the one of which fits
the blank appropriately.

The true (A) of rights is duty. If we all (B) our
duties, rights will not be far to seek. If leaving
duties unperformed we run after rights, they will
(C) us like an elusive person. The more we pursue
them, the (D) will they fly. The same teaching has
been embodied by Krishna in the (E) words.

Q21. Which of the following should come in place
of A in the given passage

(a) end

(b) source

(c) fruit

(d) purpose

(e) joy

Q22. Which of the following should come in place
of B in the given passage

(a) deny

(b) devote

(c) discharge

(d) imagine

(e) get

Q23. Which of the following should come in place
of C in the given passage

(a) impart (a) hold
(b) indicate (b) grab
(c) apply (c) fight
(d) help (d) escape
(e) presenting (e) erode
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Q24. Which of the following should come in place
of D in the given passage

(a) farther

(b) extreme

(c) outer

(d) within

(e) indoor

Q25. Which of the following should come in place
of E in the given passage

(a) sequential

(b) true

(c) immortal

(d) immediate

(e) conflicting

Directions (26-30): Rearrange the following six
sentences (A), (B), (C), (D), (E) and (F) in the
proper sequence to form a meaningful paragraph;
then answer the questions given below them.

(A) The hall was filled with children, teachers,
students, family members and those who were
close to him.

(B) Normally such ceremonies are attended by
important people like industrialists, politicians
and VIPs.

(C) What I saw when I stepped into the hall
amazed me.

(D) I went home with the feeling that it was a most
unusual oath taking ceremony with only those
who were 'important’ to him present.

(E) When he was elected President, he invited me
to the swearing in ceremony in the Central Hall of
Parliament.

(F) However, in this case everyone who attended
the ceremony seemed to know him personally.

Q26. Which of the following should be the FIRST
sentence after rearrangement?

Q27. Which of the following should be the
SECOND sentence after rearrangement?

(a) A

(b)B

(9C

(d)D

(e) E

Q28. Which of the following should be the
FOURTH sentence after rearrangement?

(a) A

(b)B

(@C

(d)D

(e) E

Q29. Which of the following should be the FIFTH
sentence after rearrangement?

(@A) A

(b) B

(@C

(d)D

(e) E

Q30. Which of the following should be the SIXTH
sentence after rearrangement?

(@A

(b) B

(9 C

(d) D

(e)E

Directions (31-40): What approximate value
should come in place of the questions mark (?) in
the following questions?

(Note: you are not expected to work out the exact
value).

Q31.4.75+10.40+2.70=7

(a) A (a) 18
(b) B (b) 15
(©) C (c) 20
(d)D (d) 22
(e) E (e) 21
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Q32.09:0.7x0.8=7
(a)3
(b) 2
(c) 4
(d1
(e)5

Q33.18.0006 + 14.0050 + 12.3400 =7
(a) 46
(b) 47
(c) 44
(d) 48
(e) 49

Q34.(12.7 +2.901) + (3.880 + 2.768) = ?
(a) 23
(b) 25
(c) 28
(d) 29
(e) 31

Q35.175.03/10.98 = 36.120/?
(a) 1
(b) 2
(c)3
(d) 4
(e) 5

Q36.55.364 =10.8046 x ?
(@5

(b) 7

(c) 10

(d)8

(e)9

ALL EXAMS,
ONE SUBSCRIPTION.

Q37.40.02% of 180.004 + 19.89% of 150.378 =
7% of 339.758

(a) 80

(b) 60

(c)30

(d) 20

(e) 50

Q38.1/64.0006 + v80.64 + v120.84 =?
(a) 28
(b) 49
(c) 51
(d) 35
(e) 39

Q39. (V48865 — v99.99)" =?
(a) 225
(b) 256
(c) 289
(d) 324
(e) 361

Q40. (11.980)? + (12.078)% - (13.006)% = ?
(a) 119
(b) 129
(c) 135
(d) 125
(e) 105

Directions (41-45): In the given question one
number is wrong in the series. Find out the wrong
number in each case.

Q41.1 3 8 19 42 88 184
(a) 3
(b) 8
(c)19
(d) 42
(e) 88

Q42.1 2 6 21 86 445 2676
(a) 2
(b)6
()21
(d) 86
(e) 445
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Q43.895 870 821 740 619 445 225
(a) 870
(b) 821
(c) 740
(d) 619
(e) 445

Q44.125
(a) 106
(b) 88
(c)76
(d) 65
(e) 58

106 88 76 65 58 53

Q45.5 13 17 25 29 36 41
(a) 13
(b) 17
(c) 25
(d) 29
(e) 36

Q46. If 3 workers collect 48 kg. cotton in 4 days;
how many kg. cotton will 9 workers collect in 2
days?

(a) 216

(b) 32

(c)108

(d)72

(e) None of those given as options

Q47. One third of Gauri's marks in History equals
to her marks in Geography. If she obtained 160
marks in the two subjects together, how many
marks did she get in Geography?

(a) 60

(b) 40

(c) 30

(d) 90

(e) None of those given as options

Q48. A 80 metres long, passenger train, travelling
at a speed of 80 km/hour crosses another train of
120 metres long, travelling in the same direction
in 24 seconds. What is the speed of the second
train?

(a) 110 km/hour

(b) 50 km/hour

(c) 60 km/hour

(d) 120 km/hour

(e) None of those given as options

Q49. A train travels 92.4 km/hour. How many
metres will it travel in 20 minutes?

(a) 30800

(b) 3080

(c) 308

(d) 30.80

(e) None of those given as options

Q50. The average age of 32 students is 10 years. If
the teacher's age is also included, the average age
increases by one year. What is the teacher's age in
years?

(a) 33

(b) 21

(c) 43

(d) 53

(e) None of those given as options

Q51. The cost price of a TV set was decreased
from Rs. 25000 to Rs. 20000. What would be the
selling price on the new cost price to earn a profit
of 25%. (in Rs.)

(a) 31250

(b) 25000

(c) 30000

(d) 27520

(e) None of those given as options

Q52. The ratio of Kanti's age to Sanvi's age is 7:4
and the sum of their ages is 44 years. What will be
the ratio of Sanvi's age to Kanti's age after 8 years?
(a) 4:7

(b) 15:12

(c) 4:3

(d) 3:4

(e) None of those given as options

Q53. Rajvir started a business investing Rs.
30,000/-. Six months later, Hitesh joined him
investing Rs. 15,000/-. If they make a profit of Rs.
10,000/- at the end of the year, how much should
be the share of Rajvir?

(a) Rs.8,000/-

(b) Rs.7,500/-

(c) Rs.6,000/-

(d) Rs.2,000/-

(e) None of those given as options
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Q54. Jagat, Rupesh and Shlok hired a high end
camera for a week for Rs.3500/-. If they used it for
a total of 6 hours, 10 hours and 12 hours
respectively, how much of the rental should Shlok
pay?

(a) Rs.750/-

(b) Rs.1250/-

(c) Rs.350/-

(d) Rs. 1500/-

(e) None of those given as options

Q55. The breadth of a rectangular hall is three-
fifth its length. If the area of the hall is 135 sq. m.,,
what is the difference between the length and
breadth of the hall in metres?

(@) 3

(b)6

(9

(d) 15

(e) None of those given as options

Directions (56-60): Study the following table
and answer the questions given

Monthly Earnings (in Rs.) of 5 workers

Month
Worker

January | February | March | April | May June

A 7400 8500 5600 | 8000 | 4600 | 7000
B 6900 7900 7600 | 8000 | 8500 | 9000
C 6200 7800 8000 | 9100 | 9400 | 10000
D 7800 10400 9800 10600 | 9800 | 12000
E 8600 9000 8800 10000 | 9700 | 10000

Total 36900 | 43600 39800 | 45700 | 42000 | 48000

Q56. In the month of March the earnings of which
worker was approximately equal to the average
earnings of five workers in that month?

(a)A

(b) B

(c)C

(d)D

(e)E

Q57. In which of the following months was the
difference between the highest and the lowest
earnings by any worker maximum?

Q58. In the month of April the earnings of worker
E was approximately what percent of the earnings
of worker C for the same month?

(a) 110

(b) 90

(c) 85

(d) 95

(e) 10

Q59. In which month did the earnings of worker
A shows the highest percentage increase over that
in the preceding month?

(a) February

(b) March

(c) April

(d) May

(e) June

Q60. Which worker's earnings are increasing
every month?

(@) E

(b) D

(9 C

(d)B

(e)A

Directions (61-65): Study the following Graph

carefully and answer the questions given
BANK'S FIX DEPOSITS (FD)
(Rs. IN CRORES)

9000
8000 7240 7420 7660
7000 5970
6000
4782

0001 4026
4000
3000
2000
1000
0

2017-18 201819 201920 202021 202122 202223

Average Fix Deposits Reserves (FD) 6183 CR.

Q61. The increase in FD in which of the following
years was approximately 25% of that in the
previous year?

(a) February (a) 2018-19
(b) March (b) 2019-20
(c) April (c) 2020-21
(d) May (d) 2021-22
(e) June (e) 2022-23
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Q62. What is the ratio of FD between the years
2019-20 and 2022-23 respectively?

(a) 597:766

(b) 768: 345

(c) 7:5

(d) 3:9

(e) None of those given as options

Q63. In which year did the FD register the lowest
percent increase over its preceding year?

(a) 2018-19

(b) 2019-20

(c) 2020-21

(d) 2021-22

(e) 2022-23

Q64. The FD in 2021-22 was roughly how many
times that of the FD in 2019-207?

(a) 1.25

(b) 0.80

(c) 1.50

(d) 0.75

(e) 2.25

Q65. What is the average FD for the years 2018-
19,2020-21,2021-22 and 2022-237? (in Crores)
(a) Rs. 7199

(b) Rs. 6775.5

(c) Rs. 6342

(d) Rs. 7045.5

(e) None of those given as options

Q66. How many such pairs of letters are there in
the word JUNCTION, each of which have as many
letters between them in the word (from both the
directions) as they have between them in the
English alphabetical order

(a) None

(b) One

(c) Two

(d) Three

(e) More than three

Q67. If it is possible to make only one meaningful
four letter English word (not ending with ‘S’)
using only the second, fourth, fifth and eighth
letters of the word SUNSHINE, using each letter
only once. What would be the third letter from the
left of the word thus formed. If more than one
such words can be formed mark X as your answer.
If no such word can be formed, mark Z as your
answer.

(@ E

(b) X

(c)S

(d) Z

(e)H

Q68. Five people - P, Q, R, S and T are each of
different age. R is younger than P and Q but older
than S. P is older than Q and S. T is not the
youngest. Which person is the youngest amongst
the given people?

(@) Q

(b)S

(P

(AR

(e) None of those given as answers

Directions (69-73): Study the following
information carefully and answer the given
question:

Eleven books PQR,S,TUVWX,)Y and Z are kept
one above the other in a stack. Book V is kept at
fifth position from the top. Only two books are
kept between books V and W. Book S is kept
immediately above book W. There are as many
books above book S as below book Q. Only five
books are kept between book U and book Z . Book
Z is kept at one of the positions below book V.
Book P is kept at one of the positions above book
U.Only one book is kept between Book V and Book
R . Book X is kept above book T but not
immediately above. Book T is not kept
immediately above or immediately below book R.
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Q69. As per the given arrangement, what is the
position of book R ?

(a) Fourth from the bottom

(b) Third from the top

(c) Sixth from the top

(d) Fifth from the bottom

(e) None of those given as options

Q70. How many books are kept between books T
and U?

(a) Two

(b) Three

(c) Five

(d) Four

(e) More than five

Q71. Which among the following statements is
true regarding book P ?

(a) It is kept at the top of the stack.

(b) Book V is kept immediately below book P .

(c) Only three books are kept above book P.

(d) Only two books are kept between books P and
X.

(e) All of the given statements are true.

Q72. Which of the following represents the books
kept between books Sand U ?

() W, P

(b) VR

()X, V

(d)TZ

(e) None of these given as options

Q73. Which of the following books is kept
immediately above book Z ?

(W

(b) Vv

(X

(AT

(e)R

Directions (74-76): Study the following
information carefully and answer the given
question.

Ais the husband of B.C is the mother-in-law of B.D
is the father of A.E is the mother of D.F is the
mother of Cand G.

Q74. If H is the father of D, then how is H related
toE?

(a) Uncle

(b) Father

(c) Sister

(d) Brother

(e) Husband

Q75. Howis Frelatedto A ?
(a) Sister

(b) Aunt

(c) Mother

(d) Grandmother

(e) Wife

Q76. How is G related to D?
(a) Sister

(b) Brother

(c) Husband

(d) Cannot be determined
(e) Wife

Directions (77-81): In this question,
relationships between different elements are
shown in the statements. These statements are
followed by two conclusions. Study the
statements and conclusions and give your answer
accordingly.

Q77.Statement: R2S>T>U>X;T<V<W
Conclusions: I. R>X

II. X<W

(a) Only conclusion I is true

(b) Only conclusion II is true

(c) Either conclusion I or conclusion Il is true
(d) Either conclusion I nor conclusion Il is true
(e) Both conclusions I and Il are true

Q78. Statement : E=F<G<H;G=I

Conclusions: I. H>I

II. E>1

(a) Only conclusion I is true

(b) Only conclusion II is true

(c) Either conclusion I or conclusion Il is true
(d) Neither conclusion I nor conclusion II is true
(e) Both conclusions I and II are true
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Q79. Statement : A>B>F>C;D>E>C

Conclusions: I. C<A

II. B>D

(a) Only conclusion I is true

(b) Only conclusion II is true

(c) Either conclusion I or conclusion II is true
(d) Neither conclusion I nor conclusion II is true
(e) Both conclusions I and II are true

Q80. Statement: K<L<M=N;P=0=N

Conclusions : I. K<P

II. K=P

(a) Only conclusion I is true

(b) Only conclusion II is true

(c) Either conclusion I or conclusion II is true
(d) Neither conclusion I nor conclusion II is true
(e) Both conclusions I and II are true

Q81. Statement : D<E<F<G;K>F

Conclusions: I. K<G

II. K>D

(a) Only conclusion I is true

(b) Only conclusion II is true

(c) Either conclusion I or conclusion II is true
(d) Neither conclusion I nor conclusion I is true
(e) Both conclusions I and II are true

Directions (82-86): Study the following
information carefully and answer the given
question:

In a certain code language 'on the verge of' is
coded as 'kd sm tn ja' 'they work on victory' is
coded as 'vr zi bq ja' 'verge the victory diligently’
is coded as 'uy sm tn vr'
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Q82. In the given code language, what is the code
for 'of'?

(a) Kd

(b) sm

(c) tn

(d) ja

(e) None of those given as options

Q83. In the given code language, 'diligently on
tour' may be coded as

(a) kk rs tm

(b) uy tn zi

(c) uy japc

(d) smtn vr

(e) None of those given as options

Q84. In the given code language, what is the code
for 'they’

(a) Vi

(b) ja

(c) Either zi or bq

(d) uy

(e) None of those given as options

Q85. In the given code language, which of the
following is the code for 'on"?

(a)Ja

(b) sm

(c) tn

(d) kd

(e) None of those given as options

Q86. In the given code language, if 'work on time'
is coded as 'gn zi ja' then what may be the code for
'time they play'?

(a) bgrtgn

(b) gnuyrt

(c) uyjagn

(d) xajada

(e) None of those given as options
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Directions (87-91): In this question three
statements followed by two conclusions
numbered I and II are given. You have to take the
given statements to be true even if they seem to be
at variance with commonly known facts and then
decide which of the given conclusions logically
follows from the given statements.

Q87. Statements: All pens are erasers. No eraser
is a bottle. All bottles are covers.

Conclusions: I. All pens are covers.

[I. Some covers are erasers.

(a) Only conclusion I follows.

(b) Only conclusion II follows.

(c) Either conclusion I or II follows.

(d) Neither conclusion I nor II follows.

(e) Both conclusions I and II follow.

Q88. Statements: Only a few bats are cats. Only a
few cats are fishes. All fishes are sparrows.
Conclusions: I. Some fishes are bats.

[1. All bats being sparrows is a possibility.

(a) Only conclusion I follows.

(b) Only conclusion II follows.

(c) Either conclusion I or II follows.

(d) Neither conclusion I nor II follows.

(e) Both conclusions I and II follow.

Q89. Statements: Only a few tulips are roses. No
rose is sunflower. All sunflowers are leaves.
Conclusions : I. Some tulips are definitely not
sunflowers.

[I. Some leaves are definitely not roses.

(a) Only conclusion I follows.

(b) Only conclusion II follows.

(c) Either conclusion I or II follows.

(d) Neither conclusion I nor II follows.

(e) Both conclusions I and II follow.

(a) Only conclusion I follows.

(b) Only conclusion II follows.

(c) Either conclusion I or II follows.
(d) Neither conclusion I nor II follows.
(e) Both conclusions I and II follow.

Q91. Statements: Only a few tulips are roses. No
rose is sunflower. All sunflowers are leaves.
Conclusions: I. All sunflowers being tulips is a
possibility.

II. No leave is a tulip.

(a) Only conclusion I follows.

(b) Only conclusion II follows.

(c) Either conclusion I or II follows.

(d) Neither conclusion I nor II follows.

(e) Both conclusions I and II follow.

Directions (92-96): Study the following
information carefully to answer the given
questions.

Eight friends PQR,S, T,U,V and W are seated in a
straight line facing north. Q sits second to right of
U. U sits at one of the extreme ends of the line.
Only three persons sit between Q and T. R sit third
to the left of S. Only two persons sit between S and
PV is not an immediate neighbor of T .

Q92. Who among the following represents the
person seated at the extreme right end of the line?
@V

(b) W

(U

(d)R

(e)P

Q93. Who among the following sit exactly
between S and P ?

(a) UR
Q90. Statements : All chairs are tables. All seats | (b) QU
are chairs. Only a few tables are boards. (cgguv
Conclusions: 1. All seats being boards is a | (d)TTW
possibility. (e)QT
[I. All seats can never be tables.
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Q94. What is the position of V with respectto T ?
(a) Third to the left

(b) Second to the right

(c) Fourth to the right

(d) Third to the right

(e) Second to the left

Q95. Based on the given arrangement, which of
the following is true with respect to W ?

(a) Only two persons sit between W and R

(b) Only two persons sit to the right of W

(c) None of the given options is true

(d) Both R and P are immediate neighbors of W
(e) V sits on the immediate right of W

Q96. How many persons are seated between V
and P ?

(a) None

(b) One

(c) Two

(d) More than three

(e) Three

Directions (97-100): Study the information
carefully and answer the given question:

Jagan starts from his house and walks towards
south and after walking 250 m , he takes a right
turn and walks 400m to reach Karan's house.
From there he walks towards south and after
walking 500 m he takes a left turn and walks 800
m to reach Aman's house.

Q97. In which direction is Aman's house located
with respect to Jagan's house?

(a) South west

(b) South east

(c) North east

(d) North west

(e) None of those given as options

Q98. Karan's house is in which direction with
respect to Aman's house?

(a) North east

(b) North west

(c) South west

(d) South east

(e) None of those given as options

Q99. If Point A is 250 m , to the north of Karan's
house then what is the distance between A and
Jagan's house?

(a) 400 m

(b) 300 m

(c) 200 m

(d) 100 m

(e) None of those given as options

Q100. If Ashish is fourteenth from the left end of
the row and 7th from the right end of the row,
then how many boys must be added to the row
such that there are 30 boys in the row?

(a) 8

(b) 10

(c) 12

(d) 14

(e) None of those given as options

ALL EXAMS,
ONE SUBSCRIPTION.

240]0
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